=K

KAYNAK

Toplama isleminde Verilmeyen Rakami Bulma Testi

( qéftimgg:

1.
SA4
+ 298B
802
A10
B) 8

C 9

isleminde A+B hangisidir?

2.
A8 7
+ 188
676
A 11
B)13

Q12

isleminde A+B hangisidir?

3.
2A7
+ 548
815
A 14
B)13

Q12

isleminde A+B hangisidir”?

4,
A5 6
+ 378B
934
A)13
B)11

Q12

isleminde A+B hangisidir?

5.
6 A3
+ 268
958
A 16
B 14

Q15

isleminde A+B hangisidir?

6.
A15
+ 1B6
421
A12
B 11

a10

isleminde A+B hangisidir?

7.
A0O8
+ 478
987
A1 4
B)16

G135

8.
SAQ9
+ 289
868B
A15
B 13

Q14

9.
A1 9
+ 768
982
A 7
B) 6

Q5

10.
28 A
+ 376
6B5
A 16
B 14

G135

11.
2A6
+ 127
418B
A12
BI10

GRN

12.
5S9A
+ 397
B9 5
A)18
B 17

Q16

www.testimiz.com

isleminde A+B hangisidir?

isleminde A+B hangisidir?

isleminde A+B hangisidir?

isleminde A+B hangisidir?

isleminde A+B hangisidir?

isleminde A+B hangisidir?




